ZEEEHEEER 1 9RF 6 RICE D, BHEFEZTHHEICED CHEOEBIRR
TIEEBHEEER 2 1 RICE D, RIEDRZEERICET 2BFHRORE

1. “4EBEORBEE (4 B1BRHE) (N)
| R2 R3 R4 R5 R6
E 3 5 1 4 2
% 3 1 5 3 4
6 6 6 7 6
L DEIS 50.0% 16.7% 83.3% 42.9% 66.7%
2. wHBEOEES (4 81BKRAE) (AN)
| ) R3 R4 R5 R6
E 66 69 68 70 70
% 53 49 53 52 52
5t 119 118 121 122 122
L DEIS 44.5% 41.5% 43.8% 42.6% 42.6%
3. RBEEOBLBER (45 1ARE) (A)
| L R2 R3 R4 R5 R6
25 14 14 13 13 12
I RE 27 23 22 24 25
RE 25 32 33 33 33
25 1 1 4 3 3
pegcs ®RE 8 8 7 7 9
RE 44 40 42 42 40
25 15 15 17 16 15
RE 35 31 29 31 34
RE 69 72 75 75 73
BE 6.7% 6.7% 23.5% 18.8% 20.0%
ZHDEIE RE 22.9% 25.8% 24.1% 22.6% 26.5%
RE 63.8% 55.6% 56.0% 56.0% 54.8%




4. 1AHIY oBEHHOKR (1H 8 F9)

()

R2 R3 R4 R5 R6
S 24.77 24.40 21.37 14.15 11.42
g 12.81 11.63 11.63 8.36 8.01
=t 19.30 19.00 17.00 11.25 10.00
5. FERBHABRIVE ORISR (FHEIE B (B)
R2 R3 R4 R5 R6
Bk 5.8 5.2 6.3 7.8 9.0
=g 8.6 7.0 7.2 7.6 9.0
=t 7.0 6.0 6.6 7.6 9.0
6. BRAEOEISIKR
R2 R3 R4 R5 R6
g% 0 0 0 0 0
[ HRE 3 “ 5 1 5
i EE S 0.0% 0.0% 0.0% 0.0% 0.0%
TS B 0 0 0 0 0
g #& 3 4 4 2 3
T |HRE 3 4 4 2 3
i EE P 100.0% 100.0% 100.0% 100.0% 100.0%
7. EBEHERROKRR
R2 R3 R4 R5 R6
g% 1 4 4 1 3
RE 1 4 5 1 5
i\EE B 100.0% 100.0% 80.0% 100.0% 60.0%
Enig H#K 1 5 9 0.5 7
FEE B 1.00 1.25 2.25 0.50 2.33




